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Intro

Today we will n”va learn ©™p 97 of M NHOH

o7 NrT ANIRI AOY OIw TURA

The case is j2187 was married to 8> 5r7 and S JR9
went oversees

THY2 T 1D IR IR

And a report came to X5 that 5n71 12187 passed away
The pTis

D27NN R RWIN RS

NIRRT NI2IVD RODW YTNY TV

7R> may not marry and may not do 01

Until it’s clarified

Whether 5n7 had a child and 7x5 is free to marry

Or whether 5n7 did not have a child and nxb is a

When there’s a 217 and a V1 there is a n>r between
the o'non and PR» 1217

The o»on say

ROWDY YW RS

And R» 17 says

ROWPS WM

When there’s a 217 and a it the 217 is stronger than the
PN

However according to 7R 717 since

ROWLS yw»n therefore the VIY» combines with the AN
to be just as strong as the 217
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M and NpTN
the 2n is stronger
than the npt
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So let's review

Today we begin a new p19

730N T VPRI

o T AN 1HY1a PN TR

The case is 2187 was married to 78> 5r7, and Ruvain and
Rochel went oversees

TV O 5 1R

And areport came to X5 that Ruvain passed away.
02NN R RWIN RS

NIRRT NN ROW DTNY T

78> may neither marry nor do 02 until it's verified
whether 5n7 had a child, and nx5 is free to marry, or, 5m3
did not have a child, and 7> is bound for Yibum.

The mwn presents another such case

mnpn o

11187 was married to 57 and he died childless, and he has
no known brothers. However, ©'j2187 mother x5 lives
overseas;

DuwIn nrNR

577 may marry, and does not have to be concerned that x>
may have had another son, to whom she would be bound
for Yibum.

The mwn presents another case where there’s a n15mn
RN INY

nwwn

If nxY left while she was pregnant -

The Rpp Rin says we are concerned that x> may have had
ason, and 517 may not marry until she verifies it.

NWWIN PR MR VI 127

YW 117 says we are not concerned that nX> may have had
ason, and bn7 is free to marry
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J2)N) was married to 5N and he died childless,
and he has no known brothers.
However, his mother NRD lives overseas

D227 AN

5M does not have to be concerned that
NS may have had another son,
to whom she would be bound for Yibum

N3P NIN
PLNR AN Ny

If NRD left while she was pregnant

DV AN - OIN PR a9
and 5 is free to marry
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The Gemara explains:

The mwn taught that when Ruvain and Rochel went
overseas, TR may not marry, and may not do 0.

R M2 ’pPHWA

Leah may not do Yibum, because it's possible that 5m7 had
achild, and Leah is moR to Ruvain’s brother;

RDR RWIN RS ROR

277 IR O

mMTOM MDD DWI 1N

Why is Leah forbidden to marry? We should assume that
Rochel had a child as most women do?

Therefore, we must say that our mwn follows x» 27 who
holds

ROWPS WM

We must be concerned that she’s of the minority who are
MTOM DAY PR

They do not have children.

And therefore, we do not allow 7R> to marry, because she
may be a na.

However, according to the 13127 who hold

297 IR PO

Both in a case of

PP PIPRT R

A majority before us - And in a case of

0P P57 RN

A majority not before us - such as

M2 MM2YNH DWI 2

We allow nix5 to marry, because we are not concerned that
she may be a nn2.

After establishing that our 7w follows PR» 17, the X3
asks;

ROD RN

mnn e ann

DwUWIN PR

According to R» 27 why aren’t we concerned that
Ruvain’s mother had another son? Since,

MY91 VWP MO MM DWI 21

™R3 AR DI AR M5

We should then say;

map1 nxAnS MYonT ROWD JH0

ROWD 091 77 N

v

We should be wwin that her husband has a brother?
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that her husband has a brother
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The X2 proceeds to explain the difference between the
Rw» and RO°0:

Besides the issue of

ROWDY WM

There is also a 7pin

In the Rw there’s a

o5

Since when Ruvain and Rochel went overseas he was still
childless.

In the Ro’0 the pin is that RS is

PWH MIMY AP

Since when her mother in law went overseas she did not
yet have another son.

And the X3 presents 2 explanations for why in the xw
We don't follow the npin

And in the Xo'0 we do follow the 7pn

PMI 27 says

RWM

WY N7 NORT

Since there’s an N3 Mo therefore

ROWDS WM

And therefore since there’s a pin that she may not do o
and a VYY1 that she is not MY nmn therefore the 7 is
D210 R RWIN RS

RO'D

WWN RS IRD NORT

Since it's only a X5 therefore

ROWNS YW1 RS

And we rely on the 7 that she is piwb nmn

R17 says

RWM

o5 It

PSR

And 211 is stronger than pin

However since we follow X127 that

ROWDS PUIN

When we combine the V11 to the ipinit's as strong as the
M

RO RO 715 M

And therefore

D271 RO RWIN KD

RO'O

b apin

PI0Y RN

And therefore even though in general 9°xX» 27 holds
ROWDY PwIN

In this case

PRD 2T YIRS
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The mwn said

D7 NS ANIR YV HIw TR

THY2 IH A5 1R

D271 KD RWIN R

NIRRT NIWVN ROW DTNY T

The R ) asks

Lether do nx'5n

If her husband did not have children then she did nx">n
and is pwb nmn

And if her husband did have children then the 7%'>1 was
unnecessary and she is piw5 nammn

The X gives 2 answers

YT says

DWIN YWD

It's only for 9 months that we say

She may not do 1x°5n

Since we are concerned that her 793 is pregnant and will
have a child

In such a case the only way to release a 71152’ from the npt
bond is through the birth of the child and the nx°5n is
unable to release her

RIIM 17 says

ooh

She may never do nx°5n

Rather she must wait

NIRRT NIWH ROW PTNY T

And the reason for this is

RV 12 79 RV RDW 777

We are concerned that her 793 will have a child

N2 1D NI PR RIDY

And then we will need to make an announcement that
although she did n%’>n which would make her nnna5 %00
she is now o> w3 since the nx°5n was unnecessary and
%57 T RN RDYT

T2 RN

We are concerned that some people will be by the mx°5n
and will not be by the nt7on

And they will think that a j7> may marry a 7350

The X2 proceeds to the next 3wn

mnY Y

If 2 brothers py»wi 2187 were married to 2 women

]R8 was married to 52

And pnw was married to IR

5P I NIIR N

5P N IR M

And 5 says jxd died

And nrb says pynw died

The p7is that since a woman is believed to say her
husband died in regards to allow her to remarry but not in
regards to anything else therefore

15w N5 219D INOR B

150 1522191 TNOR M

5m7is pwb oR since we don't have M7y that pynw died
so she is 0% Pt

And nr5 is mwb nmor since we don’t have M7y that 12187
died so she is 025 It
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. The mwn continues to present 3 more cases where
everything is the same except for 1 change
The first case is
ni s’ 1)
oM7Y PRI
If5n7 has o*7p that her husband died
And x5 does not have o7p that her husband died DN W 1&5 l;n-‘ DN W
The pis oyanm opa i

AYOR DTV DWW NR

NN DY 15 PRY NN) 2PN 1 QY )
2o Y D ptlnts Dok przy 2/ OOk

5mis P’ nmoR since we do not have mTy that pynw died
And 1R is mwS nimn since we do have M7y that jIR7
died

The second case is

oanb

DI PRI

If5m7 has children

And x5 does not have children

The p7is

mMIM» 021 W NR

ATIOR D12 719 PR NN DVAN NS 519 DV
5m is P1wb N since she is not 0% AP "'713: nn "'71): nn

And nrb is mwb 7MOR since she is 025 TP v PR “51 v “17
Dojot PR 5)//';65/)/.’/ PN Py s)/éfé o

The third case is

mIM

If pyrw IR had 2 other brothers 77 75
And "> was bmioarn

.
And 1 was RS D27n < E g
PRI S Sl
And then 7171 "> died without children Seeao ==>»
In this case there’s a np1>mn ) an l’n.l
The Ridp N3N says A2 NRY - AN

RWITH MIOR
785157 go back to being mw5 mmoR because of their

original problem that we don't have m7y that w1 j2ix1 7)’}/4 2 AP L
died PRI MM NI NI MmN
IR MYONR 27

07R 535 i pr2h mm Y Rin 28 925 R 9N go back

to being MY MMOR
because of their
original problem that
we don’t have mTy
that pynw 121% died

&
NpTR
Mishkan
Yecheskel
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